B.Com. (Part-II) Examination, 2016
ACCOUNT IN(: AND* FINANCE
, Second Paper L .
(Ftnancmmcccmntmg and Declsmn Making) -

Time Allowed : Three Hours L. Maximum Marks ll}l)
- Part-A {Compulsory)
. ( 9 — 21 ) ( aiframt )
Q.1- .What do yml mean by Direct Expenses in dt,pclrtmental aacountmg‘? [2]
‘ﬁﬁﬁﬁﬂéﬁ‘iﬁm&:mmwaﬁﬁ%? s -

Q.2 Givethe accountmg entry for cash in transit in the book of Hcad office. [2]
v 3 e 3 ferdh weIm e Y qeEl § s fafy R

Q.3 What is meant by containers and p:lcka;;,e'? [2]
F=Ad 1 Ypes 9 St W ¥

Q.4 What is meant by . cum - mtercst price? [2)
=T Wfed ged @ w Hﬁq?f %” 'L

Q.5 What is meant by - 2]
(a) Bunker - - (b) Primage
THFTA- |
(a) T (b) EAS

Q.6 What is the main object of Average clause? [2]
A a1 1 e S TR

Q.7 What is the Budget? <1 F11 87 2]

Q.8 Find margin of safety in percentage. (2]
e e B gen | war? (qhie o)
Sales 2,00,000
Variable cost 1,50,000
BEP . 1,60,000

Q.9 P/Vratio for the firm is 60%. Variable cost of product is 360. Find out its
selling price. 12}
T TH &1 o1 AT TG 60% & 1 I 1 IRFdTEE T 360 €9
¢, 39H fawa qou sand |

Q.10 What is Variance Analysis? foraor favetao s 82 12}
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Q.11

Q.12

Q.13

Q.14

Q.15

Part - B(Compulsory)

(W - =) (2 )
A business house has three depanmcnt X, Y, and z. Calculate closing
stock in unit for information gwen below : : E [4]

T AR 7T H @ favm x, yaw z @ e g aﬁqwaﬁm
T HitS

Deptt. X Sy z
Sates (Units) 2600 4600 6600
Purchases (Units) 1800 - 4380 6400
Opening stock (Units) 1800 1380 1400

(a)'h - Cash in transit (b) Goods in transit

REEIER

(a) W H UGS (b) T ¥ TE

Policy amount 5(],600 3, stock on fire date 60,000 T, salvage vatue 20,000
. Find the amount of claim. [4]
Dferdt &t uffr 50,000 T am @ Fi fafys =1 Wies 60,000 T == faar
A 20,000 T 1 T F T AR |

P/V ratio 50% [4)
Margin of safety 40%

Total sates 50,00,000

Calculate profit

@AY AT S 50%
AT T 40%

el Tashd 50,00,000
Y 91| I

Standard price of material 18 per unit |4]
Actual pricc of material 20 ¥ per unit

Actual Quantity 15 100 kps
Caiculate material price variance

YA YHM 7 18 Sid 3FE

YAl = arkafas ged 20 T ufa s
areafass v 100 foRm € )

g e farEr st ot e
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Part-C ( W/l |/)

Unit-1 (31§ —1)

Q.16 From the following parliculars prepare Departmental Trading A/C. [20]

0. 16

a9 SATOR @i 9 | -

Deptt. -‘ ‘ X y z

Opening stock | ) L0800 = !60000 50,000

Purchases - 600000 " 5,00,000 2,00,000

Actual sales ~ - ' 700000 600,000 °  3,00,000

Gross profit on normal 20% 25% - 30%
Selling price. - |

During the year certain item were sold at discount and these discounts
were reflected in the value of sales shown above. The sold at discount
were ;

i 3 T3 T A o e T o S R e e
aftfera o1 | 92 W faga &t 1 o TR UER &

X v /

Salesatnonnal price - 30,500 10,000 4.000

Salcs at actveal price 20,000 6,000 2000
| OR / 3teraT

Irom the following patticulars calculate insurance claim. 20|
Pate of fire 30.6.14
Period in indenmity six month

Sum insured 20,000
Turnover tor the year ending 30.6.14 200,000
Net profit for the accounting ycar ending 31.3.14 12,500
Standard charge for the accounting vear 7,300
Turnover for the accounting year ending 31.3.14 1,98,000
Turnover 1.7.14t0 31.12.14 55,000
Turnaver 1.7.13t0 31.12,13 1,10,0C0
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Q.17

Q17

Q.18

The turnover for the year 2014 - 15 has shown increase 10% over
turnover of the preceding years.

1 g= Q@ 98 &t afy qand -
A w1 iy aftom wiferdt & eria g Y o fer geen @ wamA-
T ARTE 30.6.14

wifayfd s1afy 6 A

a4 Fug Tl 20,000
30.6.14 B WA g Y &} fargnl _ 2,00,000
31.3.14 <l WHE & 4 &1 IG H - 12,500
31.3.14 =) THW ¢ @ 96 & Sl =g o 7,300
31394 9 oum gu ad F A fawt 198,000
afd 1.7.14 € 31.12.14 7F aifagfd srafer famnt 55,000
17.13 9 31.12.13 7% 3aify = fanl 1,10,000

2014-15 Eﬁﬁaﬁﬁnﬁaﬁﬁﬁaﬁﬁwﬁ 10% ghg F1 vafs fegemh
{
Unit-11( 3 ~11)

The following infonnatipn inyear2011. [20]
i 2011 % ferd ey g 4 vt 3 - . |
h First 6 month l.ast 6 month

Sales 270,000 3,00,000

(-) Total cost 2,40,000 2,58,000

Profit 30,000 42,000
Calculate 7OF SHifS :
(i P/l ratio (1) Fixed cost
(i) BEP (iv) Marginal of safcty

. OR / 31¥dT

What is difference between Incremental cost Decremental cost?  [20]

HagioTs SMa T HIBTIRTS d § 9Tt FaE |

Unit-H1( 3 -111) ‘
You are asked to advise whether to retain the existing machine ot to
replace it by new machine. {20]

319k} 78 T4 3 & o admm wits =) ooy van s, v 39 o vy
§ wfaeenfia forar s | g=en foom & -
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Q.18

L%@t@al cost of r aw. mat 1

N Existing Machine New Machine

Purchase price 2,00,000 8,00,000
Variable cost per unit 120 104
Selling price per unit 240 240
Annual fixed expenses 96,000 2.96,000
Annual output and sales unit 4000 8,000
Annual Depreciation 20,000 80,000
Annual interest . 20,000 80,000
OR / 3tuar
From the following particﬁlafs'relﬁiéd to the manufacture of 800 units of
a product, calculate- . [20]

(2) Material price variangco"
(b) Material usage variance
() Matenal cost vanance

Standard, quanrity of raw mate rlal 85 ljgs
Standard cost of faw material per. umt ? 170
Actual Quarltitv of raw materlal consumed 3{} kgs

%émaﬁﬁﬁmﬂm 85 fep 7.
mmaaﬁuﬁrmwaﬂﬂa 170
wmﬁwﬁﬂﬁﬂm 80 ez
TN foh e A R wh 176 X
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